/

50

444
14
900 g Z
L X
800 N
00 b A
600
500 r N (102 )
400 T, - 5kg
300 | 0
A +1kg*1
200 [ X +2kg*2
100 1 1 1 1 1 1 1 1 0 1 1 1 1 1 1 1 1
6/1 6/16 7/1 7/16 7/31 8/15 8/30 9/14 9/29 6/1 6/16 7/1 7/16 7/31 8/15 8/30 9/14 9/29
(SPAD
(10a ) 6/18 6/26  7/4  7/17 1/25
5kg 41 42 40 32 32
42 41 39 32 31
+1kg 43 42 40 33 31
+2kg 2 42 42 39 33 32
H13.
5kg NK (1kg/10ax 2 )
*
* +
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13 14

1.9mm *3
N N
(10a___ ) (10a__ D(kg/a) () (x100) (kg/a) () (ka/a) (@) (%)
5kg 2kg 163 600 346 61.9 100 7.7 22.6 86.4 26
- 163 609 345 59.1 95 9.2 22.2 86.3 0
(H.13) +1|<g*l - 167 623 348 59.5 96 9.9 22.1 86.5 0
— +2kg 2 - 177 644 369 60.6 98 11.1 21.9 84.8 65
5kg 1kg 144 507 282 57.6 100 1.4 23.2 87.0 0
(H.14) +1kg*l 1kg 153 535 304 57.2 99 2.2 22.2 86.6 0
i +1kgt - 134 515 274 52.8 92 1.7 22.2 91.7 0
046 NK
2kg/10a 1kg/10a 1kg/10a
*
* +
* X 400
800 10 =
700 91 ¢ A
8 -
600 ~
~ ~ r
- 0 S 6|
400 571
300 Aar
(10a ) (10a ) 3T
200 —— kg 1kg L =
100 | X +1kg 1kg 1k
] +1kg -
0 1 1 L 1 1 1 1 1 0 1 1 1 1 1 1 1 1
6/1 6/16 7/1 7/16 7/31 8/15 8/30 9/14 9/29 6/1 6/16 7/1 7/16 7/31 8/15 8/30 9/14 9/29
(SPAD
N N
(10a b} (10a ) 6/19 6/25 7/3 7/16__7/29 8/13
5kg 1kg 42 43 42 43 36 35
_ { +1kg 1kg 43 43 42 43 32 34
+1kg - 43 43 42 43 30 32
(H.14 )
N5kg/10a /10a
N+ N(x )
(kg/10a) K )
( X 3,540 820 4,360 1,075 5,435
( X 5,180 410 5,590 537 6,127
( ) X 6,210 410 6,620 537 7,157
12 ( H.14.2)
36
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